PORTAL SLIDE STRAIGHT 6'

INSTALLATION INSTRUCTIONS

1709-6-SS
Page 1 of 2

.

IMPORTANT NOTES: Read First

(A) This instruction set is intended to be used as a layout guide. Please refer to Installation Manual for 1709
Portal Slide for general installation instructions.

TUBE TO TWISTER
TRANSITION ASSEMBLY

STRAIGHT
SECTION

~——

N,

7~

———————

|
|
| |
| |
| |
| |
*/ |
SNl
See Footing Detail

—— 76" TWISTER

SUPPORT

FIGURE 1
Portal Slide Straight 6'

i

www.playcraftsystems.com
For Customer Service Call

800.333.8519 (U.S.A.) or 541.955.9199 (International)

Rev A
11/23/2020




PORTAL SLIDE STRAIGHT 6°

INSTALLATION INSTRUCTIONS

Page 2 of 2

1709-6-SS

Top View - Footing Layout

S PN
) |
22%!!
[572mm] [~ o
" J | .
¢ @k ) Parts List
[Omm]
Part # DESCRIPTION QTY
" DE-0083 Tube to Twister Slide - Assembly 1
DE-1503-MM Tube Elbow 30° MM 1
DE-4339-EXT Twister Slide-Exit 1
DE-4339-S Twister Slide-Straight 2
FS-1701 Single Slide Leg 1
S-1349-R5 Portal Slide Entry RS 1
S-1710 Twister Slide Support Assembly - In-Ground 1
9103062-TR Bolt Button Head 3/8" x 1-1/4" 24
61%" 9103082-TR Bolt Button Head 3/8" x 1-3/4" 14
[1 565m m] 9123032 Bolt Hex 3/8" x 3/4" 4
9333002 Washer Flat 3/8" x 1" O.D. x .100" thick 54
9413002 Nut Lock 3/8" 12
@ 18"
m [457mm]
128}4" T 12"
[3264mm| il | il [305mm]
- 24"
- ~ 1 [610mm]
www.playcraftsystems.com
PI-AYG nAFT For Customer Service Call Rev A
L 800.333.8519 (U.S.A.) or 541.955.9199 (International) 11/23/2020




	Sheet 1
	Drawing View1

	Sheet 2
	Drawing View2


